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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

1-  When you ------—---- a meeting, it is important to speak clearly, confidently and at a good
pace.
1) assess 2) propagate 3) address 4) impress

2-  People like the newly proposed system, but because of the costs involved we do not
believe it is ---------- , and we need to look for other options.
1) compliant 2) defensive 3) ingenuous 4) viable

3-  The country in question is very poor, and one in seven children dies in ---------- .
1) infancy 2) nutrition 3) malfunction 4) mortality

4- I don’t consider myself to be particularly ---------- , but when I’m given a job, I make
sure it gets done.
1) industrious 2) spontaneous 3) risky 4) unexceptional

5- The new airliner is more environmentally-friendly than other aircraft, its only ----------
being its limited flying range.

1) demand 2) drawback 3) controversy 4) attribute

6- The celebrity will ---------- assistance from the police to keep stalkers away from his
property.
1) extend 2) invoke 3) absolve 4) withdraw

7-  When plates in the Earth’s crust slide or grind against one another, an earthquake with
devastating consequences may be ---------- .
1) derived 2) surpassed 3) triggered 4) traced

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The new species was named Maiacetus inuus, which means “mother whale,”
(8) ---------- in the family Protocetidae. Assignment to a new species was justified due
to critical differences from other protocetid whales, such as solidly co-ossified left and
right dentaries (lower jaws), (9) ---------- in the ankle, and significant disparity in hind
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limb elements. The fossils show (10) ---------- this new species’ length is unimpressive
relative to some extant (living) whales, but still, Maiacetus inuus measures a
respectable 2.6 meters.

8- 1)placed 2) that placed 3) was placed 4) and was placed
9- 1) there were variations 2) varying

3) variations 4) which varied
10- 1) when 2) that 3) although 4) for

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Much of a social worker’s role is to listen effectively. This means reflecting back what
clients say and being engaged in every conversation so that they know the social workers
understand them. Good listening establishes good sense early on, so clients will feel
comfortable confiding in them. Most importantly, active listening not only builds a
therapeutic alliance, but clients also feel seen and understood by them. Feeling visible and
affirmed is a core component of any therapeutic alliance in any practice setting.

Many people who decide to be social workers already have a high EQ, or emotional
intelligence. This includes high levels of self-awareness, empathy, and sensitivity to
others. Social work will often require balancing what you know and what you intuit.

Social workers often feel that their work is never truly complete, and many take the
emotional stress of their work home with them. Leaving work at the office and enjoying
personal time will make them a more effective professional and a happier individual.

11- Active listening, as stated in the passage, ---------- :
1) both creates a relationship between two sides and makes clients feel understood
2) means that a social worker should engage in each conversation
3) raises the sense of confidence in social workers and their clients
4) highlights the role of a social worker in the society
12- The word “core” in paragraph 1 is closest in meaning to ---------- ‘
1) common 2) main 3) active 4) complex
13- Emotional intelligence, according to the passage, covers all of the following EXCEPT ---------,
1) recognizing and understanding self-awareness
2) being socially skilled and adept at dealing with others
3) having working memory and processing speed
4) acknowledging others' feelings and responding to them
14- A social worker should create a balance between what he knows and what ---------- ’
1) he can really do 2) the others say
3) he sees in real world 4) he finds by instinct
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15-

16-

18-

19-

20-

Paragraph 3 emphasizes that for having a happier personal life, a social worker should
1) set boundaries between his job and his personal life

2) have or show no strong feelings at work

3) control his emotional stress

4) complete his work truly

PASSAGE 2:

Social workers work with a number of people at any one time. This is often referred to as a
caseload. Day-to-day work involves assessing people’s needs, strengths and wishes, working
with individuals and families directly to help them make changes and solve problems,
organizing support, making recommendations or referrals to other services and agencies, and
keeping detailed records.

The problems social workers deal with are often rooted in social or emotional
disadvantage, discrimination, poverty or trauma. Social workers recognize the bigger picture
affecting people’s lives and work for a more equal and just society where human rights are
respected and protected.

In all roles, they will be trained and skilled to bring about change. They will also be skilled
in using relevant legal powers to protect people’s rights (and sometime balance the rights of
everyone involved). This combination of skills is unique to the social work profession.

Caseload, according to the passage, refers to ---------- ,

1) the number of people involved in assessing a case

2) the volume of work for which a person should be prepared

3) the number of people a social worker has to deal with at one time

4) the volume of work a person has to do to increase his well-being
It's stated in the passage that ---------- .

1) making referrals to other agencies causes a halt during work process
2) the social workers may not sometimes able to solve the problems on their own
3) the detailed records should be kept in other agencies

4) a natural aptitude for elaborating skills is essential

For solving people’s problems, the social workers ---------- .

1) search for the big picture of the problems

2) try to change the social and emotional feelings

3) are trained to see the things influencing people’s lives

4) determine the society where human rights are respected and protected
The social workers, according to the passage, ---------- .

1) consider their work as a special profession

2) have to acquire a range of specialized skills

3) should regulate the people's legal powers

4) train people to get their rights in the society

The writer's tone in this passage is ----------

1) objective 2) skeptical 3) hopeful 4) amused
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23-

24-

PASSAGE 3:

Individual counselling is one of the key functions of open youth work. Situations
where counselling is needed can arise in different contexts, both on the street, in the
framework of institutional services provided by the youth centers, and on an
unplanned basis in the day-to day contacts between social workers and young people.
Counselling is directed at giving individual help to children and young people in order
to help them to cope better with life, i.e. to help them cope with their problems more
effectively. The aim of counselling is to motivate young people to be aware of and to
use their own resources. The quality of individual counselling depends to a very large
extent on a relationship of trust between young people and social workers, which
should be based on respect and on appreciation of the individual problems faced by
children and young people. The family can also be included in counselling, depending
on the circumstances and needs of the children.

Individual counselling on the streets, according to the passage, should be done ---------- s
1) day to day by finding the best subjects

2) through communication between individuals and young people

3) based on the institutional structures prepared by youth centers

4) in the unplanned contacts between the youth and social workers

Counselling, as it’s stated in the passage, ----------

1) is the most effective way for helping people in the society

2) is in the direction of providing the centers employing the youth

3) solves and remove the problems the youth encounter

4) involves a helping approach for the youth to overcome difficulties

It's mentioned in the passage that the youth ----------- .

1) need motivation to work with social workers

2) have resources that should be identified

3) have unsolved problems in their life

4) should have a lot of communication

Based on given information in the passage, the relationships between social workers and

individuals include all of the following EXCEPT ---------- A
1) sufficient data 2) trusting each other
3) mutual respect 4) understanding children’s problems
The writer of this passage wants to ---------- .
1) advise 2) persuade 3) clarify 4) emphasize
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